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™ Refiw: __ wiR__
(-8)" +(-3) = 82 +6=
9 —10= (—2)° +10 =
(-6 +5= (—6)> +10 =
(1) + (4= (7D~ (-3) =
10" = (-2) = 2D gy =
(—3)+(=2)= (—9) D — (—9) =
82 — (=5) = 42 4+7=
D*5= (-5)" = (-2)=
100D +8= 12+5=
5747 = 1+ (-1)=
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(—8)> +(-3) = 61

- 89 8
I =10=(—3)=(9)

181 1
((2) 5 00 _
() . 36 536

(D + (=4 = (-3)
0'-(-2)=3

(=3)+(2)= (5

_ 321 1
S

=N +5=(2)

1070 +8=—

feicp:
385 1
(2) L= 290 L b
8 T
(-2)° +10=11
(—6)> + 10 = 46

(1 _yy= 20,0
D= (3= =22

2D 2= (1= (1)

(9 - (-9) = =2~ o
42 +7=23

(=5)° = (-2)=3

12+5=6

P+(-1)=0
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